
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

6, 224 × ________ = 6224 9, 876 × ________ = 98.76

8, 813 × ________ = 8813 9, 33 × ________ = 93.3

8, 031 × ________ = 8031 10, 852 × ________ = 108.52

10, 227 × ________ = 1022.7 3, 362 × ________ = 33.62

9, 098 × ________ = 90.98 5, 525 × ________ = 55.25

4, 922 × ________ = 492.2 4, 547 × ________ = 4547

2, 478 × ________ = 2478 1, 494 × ________ = 14.94

5, 656 × ________ = 565.6 6, 891 × ________ = 6891

3, 639 × ________ = 3639 7, 079 × ________ = 707.9

5, 446 × ________ = 54.46 4, 172 × ________ = 4172
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